analysis)

(reversing order)

400

(experimental research)

(confirmatory factor

(Cronbach's alpha coefficient)

(TIF)
(tradlitional order)
1
2 2542 1416 (
, 2542)
2 2542

(simple random sampling)
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(Steven,1986)
LISREL 8.10 5
10
200

(stratified sampling)

6 352
(simple random sampling)
208
(2539) 3
(2522) 3
6

3
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x2 xadf P GH  AGH

1( ) 993 913% 9% 65 9B %
2 ( ) 659 979%6 8 B 9B %
3( ) 716 8476 93 66 98 9%

6
(simple random sampling) 30
064, .71, 62, 56, 5L 6L
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1
2 19
19 13
6 6
6
200
(Steven,1986) LISREL
8.10 5
80
352
6
(carry-over
effect)
(cyclic latin square) 6 X6
(residual effect) ( , 2526)
(latin squares)
(treatment) 6 (latin squares) 6x6
6 6
6
1 1
2
3

61



3 2
4

4

5 3

6 4

(simple random sampling)

5/

o8

60

58

58

1

(rest period)

40



~—

EENO e OO e Ol
w
N e O e B O
=
<
HORORO= 05070
HORORORCE OO
N

GO )
ROS O O OZ OO

—i

208

34

35

208
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()
1 2 3 4
( ) 7:3(1) 6:3(1) 7:34) 4:2Q3) 4.1
() - 2 74) B4 5:4
() 5(1)  9:5(1)  10:5() 74(4) 3219
() (1) 8:4(1)  6:4(1) 2(4)  26:14
4(2) 541 T:4() A4) 24116
42) 6403 5:4(4) 4(6)  27:16
(

40 %) 43:60Q) 48:290) 42 27 6 173:106
3(2)  5:3(3)  5:3(4)  7:36) AL
7747 82:49 10059 93:53  352:208

208

6
(descriptive  statistics) {X) (SD)
(coefficient of variation) (skewness)
(kurtosis) ' SPSS
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2.
21
(Cronbach's alpha coefficient) 6 SPSS
(Pitman) t-test
2.2 6
(confirmatory factor analysis) LISREL 8.1
(chi-square)
(goodness of fit)
(Adjusted goodness of fit) - (relative chi- square Statistics: %2/df)
2.3 6
The Friedman test
SPSS
2.4 (TIF) 6
PARSCALE
(ratio of average information: RAI)
2.5
(two-way analysis of
variance) SPSS
2.6
2.1



1 (Reliabily)

(Pitman) ttest
2532; Feldt, 1980)

1 (t-test)
) a
Vo
/y x%x !
1 2
N
3. (Construct  Validity)

(Confirmatory Factor Analysis)

I (chi-square)

x=( -\)F[s,zm
df = [k(k +1)/2]'/

44



GH

F[S.1(0)]

GFI
F[ £
)

AGF

(Goodness-of-Fit-Index)

GFI=1- {F[S, E(0)])/F[s, L(0)]}

(Adjusted Goodness-of-Fit Index)

AGFI =\~ {(L/ 20)(k)(k +)}1- GF1)

AGFI
GFI
d

k

%@

Rj

The Friedman test

45
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Ink (k +1)
7 = 1%
R] |
R, |
k
> (T PARSCALE
(AN
(RAI
IMpat|
AL(6,X1) = —qu
Al 0
qpt Quardatur Point #
QPT
X1 X
_ Al(e,X)
RAI(0,x1y1) M0
RAI(0,X"y]) .
X2 {6)

X2 X2



	บทที่ 3 วิธีดำเนินการวิจัย
	ประชากรและกลุ่มตัวอย่าง
	เครื่องมือที่ใช้ในการวิจัย
	การเก็บรวบรวมข้อมูล
	การวิเคราะห์ข้อมูล
	สถิติที่ใช้ในการวิเคราะห์


